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નેટવક�ની પ�રભાષામાં MAN એટલે શું? 

1. કમ્પ્યૂટરના સંદભર્માં OS એટલે શું? 

 (૧) ઑડર્ર ઑફ િસ�ગ્ન�ફકન્સ (૨) ઑપન સૉફ્ટવૅર

 (૩) ઑપર��ટ�ગ િસસ્ટમ      (૪) ઑ�પ્ટકલ સેન્સર 

2. નીચે પૈક�નું ક્યું એક Antivirus Software નથી? 

 (૧) KASPERSKY (૨) McAfee

 (૩) NORTON (૪) Code Red

3. ......ને કમ્પ્યૂટરનું મગજ કહ�વાય છ�. 

 (૧) Monitor  (૨) CPU

 (૩) પૅનડ્રાઇવ (૪) ઇન્ટરનેટ 

4. કમ્પ્યૂટરમાં તમામ ક�લ્ક્યુલેશન ક્યાં થાય છ�? 

 (૧) ALU  (૨) SMPS

 (૩) Calculator  (૪) Control Unit

5. કમ્પ્યૂટરના સંદભર્માં 1 Byte એટલે સામાન્ય રીતે 8 

Bits. 4 Bits એટલે ૧ ........ ? 

 (૧) Nibble  (૨) megahertz 

 (૩) gigahertz  (૪) megaflop

6. કમ્પ્યૂટરના સંદભર્માં BIOS એટલે શું? 

 (૧)  BASIC INPUT/OUTPUT SYSTEM 

 (૨) BASIC INTRODUCTORY/OPEN 

SYSTEM 

 (૩) BASIC INCOMING/OUTGOING 

SYSTEM

 (૪) BHARAT INDIGENIOUS ONLINE 

SYSTEM 

7. UNIVAC અને ENIAC એ શેના ઉદાહરણો છ�? 

 (૧) કમ્પ્યૂટરની ચોથી પેઢી (૨) કમ્પ્યૂટરની ત્રી� પેઢી 

 (૩) કમ્પ્યૂટરની પાંચમી પેઢી 

 (૪) પ્રથમ પેઢીની કમ્પ્યૂ�ટ�ગ �ડવાઇિસઝ

8. ........ના આગમન સાથે ચોથી પેઢીના કમ્પ્યૂટરનો 

યુગ શ� થયો. 

 (૧) આ�ટર્�ફિશયલ ઇન્ટ�િલજન્સ (૨) ટ્રા�ન્ઝસ્ટસર્ 

 (૩) ઇ�ન્ટગ્રેટ�ડ સ�ક�ટ્સ       (૪) માઇક્રોપ્રોસેસસર્

9. નેટવક�ની પ�રભાષામાં MAN એટલે શું? 

 (૧) Middle Arithmetic Network

 (૨) Metropolitan Area Network

 (૩) Mahanagar Area Network 

 (૪) Media Access Network 

10. ઇ.સ. ૧૯૭૬માં ઇથરનેટ કોણે િવકસાવ્યું? 

 (૧) ડો. રોબટર્ એમ. મૅટકાફ (૨) ર� ટો�મ્લન્સન 

 (૩) સ્ટીવ બૅલોિવન   (૪) િવન્ટન સૅફ�

11. સંસદના સંયુક્ત સત્ર િવશેનો ઉલ્લેખ બંધારણના 

ક્યા અનુચ્છ�દમા છ�? 

 (૧) 102    (૨) 104  (૩) 108      (૪) 110

12. ભારતીય બધંારણના અનચુ્છ�દ .......મા ંક�ન્ટન્જન્સી 

ફ�ડ (આક�સ્મક િનિધ)ની �ગવાઈ છ�. 

 (૧) 37     (૨) 147  (૩) 367    (૪) 267

13. ભારતીય બધંારણના ક્યા અનચુ્છ�દમા ંકાયદા સમક્ષ 

સમાનતાનો ઉલ્લેખ કરાયેલો છ�?   

 (૧) અનુચ્છ�દ ૧૧  (૨) અનુચ્છ�દ ૧૨

 (૩) અનુચ્છ�દ ૧૩  (૪) અનુચ્છ�દ ૧૪ 

14. નોકરી અથવા હોદ્દા ઉપર િનમણૂકના સંદભર્માં 

અવસરોની સમાનતાનો ઉલ્લેખ બંધારણના ક્યા 

અનુચ્છ�દમાં છ�? 

 (૧) અનુચ્છ�દ ૧૯  (૨) અનુચ્છ�દ ૧૪ 

 (૩) અનુચ્છ�દ ૧૬  (૪) અનુચ્છ�દ ૧૭

15. નીચે પૈક�ના ક્યા અનુચ્છ�દ સંઘ અને રાજ્યની 

વચ્ચેના વહીવટી સંબંધો િવશેના છ�? 

 (૧) ૨૫૬ થી ૨૬૩  (૨) ૨૬૦ થી ૨૮૦ 

 (૩) ૧૫૦ થી ૧૫૬  (૪) ૧૫૬ થી ૧૬૩

16. “Untouchability” is abolished and its 

practice in any form is forbidden. – આ વાક્ય 

બંધારણના ક્યા અનુચ્છ�દમાં છ�? 

 (૧) અનુચ્છ�દ ૨૦  (૨) અનુચ્છ�દ ૧૯ 

 (૩) અનુચ્છ�દ ૧૩  (૪) અનુચ્છ�દ ૧૭ 

17. ભારતના મુખ્ય ન્યાયમૂિતર્નું પદ ખાલી હોય અથવા 

ગરેહાજરી ક� અન્ય કોઇ કારણથી તેઓ ફર�નુ ંપાલન 

કરી શક� તમે ન હોય ત્યાર� અન્ય ન્યાયમિૂતર્ઓમાથંી 

રા�પિત િનયુક્ત કર� એ ન્યાયમૂિતર્ દ્વારા મુખ્ય 

ન્યાયમિૂતર્શ્રીની ફર� િનભાવવામા ંઆવશ.ે – આવો 

ઉલ્લેખ ક્યા અનુચ્છ�દમાં છ�? 

 (૧) અનુચ્છ�દ ૧૨૦  (૨) અનુચ્છ�દ ૧૨૨ 

 (૩) અનુચ્છ�દ ૧૨૪  (૪) અનુચ્છ�દ ૧૨૬

18. નીચે પૈક�ની કઇ ક�િત મનુભાઈ પંચોળીની નથી? 

 (૧) ઝેર તો પીધાં છ� �ણી �ણી (૨) સોક્ર��ટસ 

 (૩) ક��ક્ષેત્ર  (૪) શૂળ અને શમણાં 

19. ભારતના રા�િચહ્નમા ંત્રણ િસહંની નીચ ેક્યા બ ેપ્રાણી 

�વા મળ� છ�? 

 (૧) ગાય અને હાથી  (૨) આખલો અને ઘોડો 

 (૩) બળદ અને િસંહ  (૪) હાથી અને િસંહ 

20. ભારતના બંધારણના ક્યા અનુચ્છ�દમાં દ�વનાગરી 

િલિપમાં લખાયેલી િહન્દી એ સંઘની સત્તાવાર ભાષા 

હોવાની સ્પષ્ટતા થયેલી છ�?

 (૧) ૩૪૨    (૨) ૩૪૩  (૩) ૩૪૫   (૪) ૩૪૭ 

21. A, C, F, J પછી .... ?.....   

 (૧) L      (૨) M  (૩) N       (૪) O

22. ‘અનભે’ એટલે શું? 

 (૧) આકાશ (૨) પાતાળ (૩) ડરપોક (૪) િનભર્ય 

23. જમર્નીના લોહપુ�ષ તરીક� કોણ �ણીતું છ�? 

 (૧) ઑટો વૉન િબસ્માક�  (૨) િવલ્હ�મ પ્રથમ 

 (૩) ફ્ર�ડ�રક �તીય  (૪) સરદાર પટ�લ

24. Look, a new missile ..... યોગ્ય િવકલ્પ વડે 

ખાલી જગ્યા પૂરો. 

 (૧) is launched     (૨) is being launch 

 (૩) launch    (૪) is being launched

 25. She is talking ..... you. યોગ્ય િવકલ્પ વડ ેખાલી 

જગ્યા પૂરો. 

 (૧) at     (૨) in  (૩) for   (૪) about

26. Women are wearing .... Kind of jewellery. 

 (૧) tradition  (૨) traditionall

 (૩) traceable  (૪) traditional

27. He was feeling ...... about his bad luck. 

 (૧) hungry  (૨) angrily

 (૩) angry  (૪) anger

28. The Nilofar cyclone caused ....... damage 

to the city. 

 (૧) extend (૨) extended 

 (૩) extension  (૪) extensive

29. I come here just ......  minutes ago. 

 (૧) a some  (૨) a much 

 (૩) a few (૪) a many

30. I had to admit ______ completely forgotten 

our wedding anniversary. 

 (૧) to having (૨) I have  

 (૩) having (૪) have I

31. A stock limit of 100 quintals for retail traders 

and 500 quintals for wholesale traders has 

been ......

 (૧) Mandatory  (૨) Imposed

 (૩) Inflictive (૪) Subrogation

32. The challenge of industrial decarbonisation 

looks .......  at first glance.

 (૧) Discourage  (૨) Daunting

 (૩) Encourage  (૪) Sympathy

33. ...... to my political rival’s statement, the 

data reveals crime has not increased in this 

country.

 (૧) Accepting  (૨) Contrary

 (૩) Reference (૪) Assisting

34. The man was ..... in financial disputes with 

several people.

 (૧) occluded  (૨) recuperated

 (૩) mired  (૪) swashbuckling

35. When the caring man saw the ..... had no 

footwear, he offered the man the pair of 

shoes he wore.

 (૧) jabber (૨) pauper (૩) dapper (૪) hamper

36. If you are caught using a calculator in the 

exam then it will be .....

 (૧) taken  (૨) confiscated  

 (૩) confiscate  (૪) under possession

37. Some debuts earlier this year have .....

much stronger, with Avenue Supermarts, for 

example, doubling in price on its first day of 

trade.

 (૧) to be (૨) been  (૩) always (૪) to

38. Arjun has been working with partners in 

districts in Bihar to renovate...... toilets 

which have been constructed but are not 

used.

 (૧) extant (૨) defunct (૩) existent (૪) prevail

39. The ...... ‘pretty ugly’ implies that a person 

can be both attractive and unattractive at the 

same time.

 (૧)  simile  (૨) metaphor

 (૩) alliteration  (૪) oxymoron

40. The employee did not ...... to the argument 

of the manager.

 (૧) precede (૨) exceed 

 (૩) concede  (૪) recede

41. ..... a country’s current account is in deficit, 

it implies that its imports of goods and 

services are higher than its income from 

exports and remittances from non-residents.

 (૧) Given (૨) Until (૩) Rather (૪) If

42. “A single gunman fired shots in a residential 

area of the city and as a result ...... Ms. 

McKee,” said Mr. Hamilton, adding that 

police believed the gunman was a “violent 

dissident republican”.    

 (૧) had been wounded (૨) have wounded

 (૩) has been wounded (૪) Wounded

43. Is there ..... water in the well? 

 (૧) some   (૨) any   (૩) much   (૪) many 

44. The train is ..... at the station. 

 (૧) yet   (૨) very    (૩) rather   (૪) still 

45. Give adjective of ‘Admit’. 

 (૧) Admission  (૨) admissible

 (૩) admittance  (૪) Admissible 

46. Give opposite gender for “Clot”.  

 (૧) Filly (૨) Colty   (૩) Mare (૪) Horse 

47. Find out the odd one. 

 (૧) Fruits (૨) Vegetables (૩) Herbs (૪) Jam

48. We shall be ready ..... a few minutes 

 (૧) on     (૨) at  (૩) in       (૪) an

49. If I ..... you, I would have told him the truth. 

 (૧) am (૨) was (૩) were (૪) and 

50. I shall get my brother .... the tickets for me. 

 (૧) brought        (૨) to buy

 (૩) have been brought    (૪) purchased 

(૧) ૩ (૨) ૪ (૩) ૨ (૪) ૧ (૫) ૧ (૬) ૧ (૭) ૪ (૮) ૪ 

(૯) ૨ (૧૦) ૧ (૧૧) ૩ (૧૨) ૪ (૧૩) ૪ (૧૪) ૩ (૧૫) ૧ 

(૧૬) ૪ (૧૭) ૪ (૧૮) ૪ (૧૯) ૨ (૨૦) ૨ (૨૧) ૪ (૨૨) ૪ 

(૨૩) ૧ (૨૪) ૪ (૨૫) ૪ (૨૬) ૪ (૨૭) ૩ (૨૮) ૪ (૨૯) ૩ 

(૩૦) ૧ (૩૧) ૨ (૩૨) ૨ (૩૩) ૨ (૩૪) ૩ (૩૫) ૨ (૩૬) ૨ 

(૩૭) ૨ (૩૮) ૨ (૩૯) ૪ (૪૦) ૩ (૪૧) ૪ (૪૨) ૪ (૪૩) ૨ 

(૪૪) ૪ (૪૫) ૨ (૪૬) ૧ (૪૭) ૪ (૪૮) ૩ (૪૯) ૩ (૫૦) ૨ 


